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2. KM=V VF D THBRER
RA— VNSV H T HRBERIE. £ 1TRTEBYTH B,

"1 M= SvF I HRER

PZI7IVNE 5.2%  EMEBE 2406 g/cm?

No BE WEOE | ERZEFE |NTEE
1 (g/cm?) (%) (mm) ([El/mm)
T 2.405 100.0 1.00 3000
2 2.407 100.0 0.87 3320
3 2.403 99.9 1.09 3000
15 2.405 100.0 0.99 3150




A —=IbbZvF 2 THE
HBERE SMeE 28 17 B
2 B & w1 BEEh
AEL-BH TRA—IURS Y DI R @
BEYDESE BRIEX vy I PRI7IVNEE(13)
RAMOEETE 2.406 (9./cm3)
INA S DIESE BRI 7IVNTE
FRI7IVNE | 5.2 (%)
papormen  Q.EN 2B 3. RBUN B C,=1.0
SBRRME LEEE 686 N BHE  0.63 MPa
HEBEE 60 C FTEH 2520 @
e (.05 2. 71— BEFE C=1.0
R EDNo. 1 2 3 19
DR DB (g/cm3)| 2.405| 2.407| 2.403| 2.405
QUKD FHEDHE (%) 100.0| 100.0| 99.9/ 100.0
® dso 1.34|  1.21| 1.43
28 (mm) @  dus 1.63| 1.44| 1.72
® deo 1.84| 1.63| 1.93
OLEHBDE 6-@ 0.21| 0.19| 0.21|®@ 0.20
OREER(DS) | Dps=15x42:CixCo/ | 3500|  3320| 3000
(E,/mm) ©
OHIEHIRTERE (DS) | DS =15%42%C%C.,/ 9 3150
(|, mm) @
OTEEDEDTS (9-®)2 22500| 28900| 22500
OiEERE S=(Z®@/n-1)""2 @ 192
QIR (%) 0/ 6.1
ERTE (%) do 1.00 0.87| 1.09] 0.99
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